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QID : 1 - In the following question, select the related word pair from the given alternatives.

Rain:Clouds::?:?

oo uy & fow e fowedt & & &l wsg g &1 gful

Options:

1) Rice : Food
EICGINRCIE)

2) Grey : Colour
Jact : 3

3) Heat : Sun
it ;g

4) Snow : Mountains
Correct Answer: Heat : Sun

Candidate Answer: Heat : Sun

QID : 2 - In the following question, select the related word from the given alternatives.

Cactus : Plant : : Rice : ?
frafafed vy & fou Te fowedt o 9 Teifta wsg &1 9T
o PR ) G - 1

Options:
1) Basmati

2) Crop
B
3) White

4) Rabi
il

Correct Answer: Crop
Had

Candidate Answer: Crop
T

QID : 3 - In the following question, select the related word from the given alternatives.
Pink : Colour : : Eagle : ?

Frafafed vy & fau e fawed # 9 Heifta wrsg &1 g

LGICIER FRRI c- R

Options:
1) Black
Eall

2) Symbol
5]

3) Bird

gaft

4) Sky

STDTR

Correct Answer: Bird
geft

Candidate Answer: Bird
et
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QID : 4 - In the following question, select the related letter pair from the given alternatives.

TOM:NIG::?:?

oo wy & Ry e et & @ Sefa sier gm &1 gfu)
Options:

1) EAT : YUN

2) EAT : XXM

3) FAT : LMV

4) EAT : ZXC
Correct Answer: EAT : YUN
Candidate Answer: [ NOT ANSWERED ]

QID : 5 - In the following question, select the related letters from the given alternatives.
LERI: PJVN:: MONT:?

frafafed uy & fow 7U fawedt & 9 9 sieri &t 9wl

LERI: PJVN:: MONT:?

Options:

1) WRTY

2) QTRY

3) RITY

4) RQYB

Correct Answer: QTRY

Candidate Answer: QTRY

QID : 6 - In the following question, select the related letters from the given alternatives.
SAT : WEX :: MET:?

frafafed uy # fau Tu fAwedl # 9 Fafd sieri o gHu

SAT : WEX :: MET : ?
Options:
1) AQI

2) IYX
3) FHY

4) QIX
Correct Answer: QIX
Candidate Answer: QIX

QID : 7 - In the following question, select the related number from the given alternatives.

43:7::23:?

frafoiea uy # fiw e fowedt # @ wefta ¥ &1 ghul
43:7::23:?

Options:

1)6

2)4

3)7

4)5
Correct Answer: 5
Candidate Answer: 5

QID : 8 - In the following question, select the related nhumber from the given alternatives.

38:53::53:?
Frafefed vy & fag 7 el & @ deifia dem &1 ghu

38:53::53:?

FRESHERS NOW
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Options:
1)72
2) 68
FRESHERS NOW
3)79
4) 87
Correct Answer: 68
Candidate Answer: [ NOT ANSWERED ]

QID : 9 - In the following question, select the related number from the given alternatives.
9:81::11:?

frafared uy & few Tu fawedl & ¥ defa g &1 gl

9:81::11:?

Options:

1) 78

2)93

3) 121

4) 146
Correct Answer: 121
Candidate Answer: 121

QID : 10 - In the following question, select the odd word from the given alternatives.

fafefad oy & fou e fawed & 9 faww wsg &t gFul
Options:

1) Goggle

A

2) Purse
o

3) Accessories
ERERSIEp]
4) Belt

E

Correct Answer: Accessories
GEREZIEPl

Candidate Answer: Accessories
TS Al

QID : 11 - In the following question, select the odd word from the given alternatives.

fafafad uy & fqu U fawed & 9 favm veg &1 gFul
Options:
1) Grapes

SR
2) Guava

3A=q
3) Cauliflower

4) Orange
RIGRI
Correct Answer: Cauliflower

Candidate Answer: Cauliflower

e
QID : 12 - In the following question, select the odd word from the given alternatives.

fuffad uy & fiou e fawedt & 9 faww wrsg &t gful
Options:
1) Sparrow

2) Rat
qel
3) Ostrich

4) Parrot

Correct Answer: Rat

e

Candidate Answer: Rat

<l
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QID : 13 - In the following question, select the odd letters from the given alternatives.

oo vy & fou e fiwedt & @ faw siert &1 gful
Options:

1) GCXTO

2) KGBXS

3) RNIEX

4) QMHDY

Correct Answer: RNIEX

Candidate Answer: KGBXS

QID : 14 - In the following question, select the odd letters from the given alternatives.

frafafed vy ¥ 3T 7e fawedt & ¥ favd sierf &1 gm|
Options:

1) SOKG

2) AWSO

3) RNJF

4) CYTP

Correct Answer: CYTP

Candidate Answer: [ NOT ANSWERED ]

QID : 15 - In the following question, select the odd letters from the given alternatives.

Frofoiad ny & faw e fowedt & @ fawy eiart &1 gful
Options:

1) KNQ

2) DGJ

3) wzB

4) TWZ

Correct Answer: WZB

Candidate Answer: WZB

QID : 16 - In the following question, select the odd number from the given alternatives.

frafafea uy & faw T fawedt & 9§ favm e & giuy
Options:

1)7-11

2)12-16

3)14-18

4)9-15

Correct Answer: 9 — 15

Candidate Answer: 9 - 15

QID : 17 - In the following question, select the odd number from the given alternatives.

Frafoed vy # fiw e fawedt # @ faww Sem &1 gl
Options:

1)2-4

2)3-9

3)4-18

4)5-25

Correct Answer: 4 — 18

Candidate Answer: 4 - 18

QID : 18 - In the following question, select the odd number pair from the given alternatives.

fafoRad gy ¥ U U fawed & 9 faww e gm & gl
Options:

1) 76 — 42

2)92-20

3)73-21

4) 93 -27

Correct Answer: 92 — 20

Candidate Answer: 73 — 21

FRESHERS NOW
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QID : 19 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Flagrant

2. Flavour

3. Flatter FRESHERS NOW
4. Flick

5. Flawed

Fafafed Weal 31 UGN H 3 aTd HH & IR g |

1. Flagrant
2. Flavour
3. Flatter
4. Flick

5. Flawed

Options:
1) 13254

2) 31254
3) 23541

4) 32541
Correct Answer: 13254
Candidate Answer: 13254

QID : 20 - According to dictionary, which of the following word will come at THIRD position?

1. Heritage
2. Helpful
3. Hectic
4. Heroic
5. Heroism

UEHIY &b SFER, FEfiRad & I B 91 Wsg A - W ARA?

1. Heritage
2. Helpful
3. Hectic
4. Heroic
5. Heroism

Options:
1) Hectic
2) Heritage
3) Heroic

4) Helpful
Correct Answer: Heritage
Candidate Answer: Heritage

QID : 21 - From the given alternatives, according to dictionary, which word will come at LAST position?

feu e famedl A ¥, TH B IR, D 7 s Siferd TIF TR SART?
Options:

1) Juvenile

2) Justify

3) Judge

4) Justice

Correct Answer: Juvenile

Candidate Answer: Juvenile

QID : 22 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
F,M,T,?,H,0

T S o 7 B, O 9 v ue g 71 U e st # ¥ 95 W€ fawed 9w, St 3w B R vl

F,M,T,?,H 0
Options:
1)B

2)C
3)A

4)D
Correct Answer: A
Candidate Answer: A
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QID : 23 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

ROK, LIE, FCY, ZWS, ?
T 3gehd o T 8, o ¥ ue U g B U U faw et # 9 a8 uet e g, S o d & |

ROK, LIE, FCY, ZWS, ?
Options:
1) LAQ

2) SRV
3) TQM

4) FMQ
Correct Answer: TQM
Candidate Answer: TQM

QID : 24 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

FAQ, LGW, RMC, ?, DYO
T 3rgshd o o B, e @ ueb ug g 21 3w e fawedt F @ a7 e faweu gy, S o Bl R B

FAQ, LGW, RMC, ?, DYO
Options:
1) VIR

2) XsI
3) LSI

4) MIS
Correct Answer: XSI
Candidate Answer: XSI

QID : 25 - In the following question, select the missing number from the given alternatives.
14, 22,49, 113, 238, ?
frafafed uy & fau 7 el # ¥ g sid 1d Sife|

14, 22, 49, 113, 238, ?
Options:

1) 386

2) 532

3) 454

4) 576

Correct Answer: 454
Candidate Answer: [ NOT ANSWERED ]

QID : 26 - In the following question, select the missing number from the given alternatives.
42,21, 21, 31.5,63,?
frafafed uy & faw 7 fiwed # ¥ g 8id 1d S

42,21, 21, 31.5,63,?
Options:

1) 169.75

2) 157.5

3) 152.5

4) 126.75

Correct Answer: 157.5
Candidate Answer: [ NOT ANSWERED ]

QID : 27 - In the following question, select the missing number from the given alternatives.
14, 44, 135, 409, 1232, ?
fafRad oy & iU U fawedl & 9 g 8% 1d S|

14, 44, 135, 409, 1232, ?
Options:

1) 2962

2) 3340

3) 3702

4) 3406

Correct Answer: 3702

Candidate Answer: [ NOT ANSWERED ]

FRESHERS NOW
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QID : 28 - E is sitting between D and A, B is to the right of A, C is at one of the ends and C and D are sitting next to each other. Who is sitting third?

E, D 3R A % il ST &, B, A & aife+fl 3R &, C, T RR WX @ 3R C 3R D U G & 9711 # 93 ¢ AR BIF R B 97 &2

:-))ptDions: FRESHERS NOW
2)A

3)B

4)E
Correct Answer: E
Candidate Answer: E

QID : 29 - Showing a photograph of a married couple B said that the gentleman in it was his father's father and A said that the lady in it was her mother. How is A
related to B?

T AEIYET SIS HT Hie! fEmd §U B 3 F8T i 50 St I § 3§ 39 far & far & ok A 3 g1 o 398 off i 8 9 Iuat ai ftl A, B ¥ fre ke Taifia &2
Options:

1) A'is B's mother's sister

A BB H P TR

2) Ais B's sister

A, BHI 57 8

3) Ais B's Father's sister

A BF B e 8

4) A is B's mother

A BIIHTE

Correct Answer: A is B's Father's sister
A BF B e 8

Candidate Answer: A is B's sister

A BH TEA R

QID : 30 - From the given alternative words select the word which cannot be formed using the letters of the given word.
MERCANTILE

frafafed fowedl § ¥ a8 g 9T ot 3T 1T Xeg & 31&RT 6T TANT S o] SR ol Gabdl:

MERCANTILE
Options:
1) truce

2) learn
3) trace

4) claim
Correct Answer: truce
Candidate Answer: truce

QID : 31 - If OLYMPUS is coded as MJWKNSQ, then how will TEN be coded as?

T OLYMPUS & &8 § MIWKNSQ foRaT STl § o TEN &1 Sis H a feraie
Options:
1) RCL

2) GVM
3) SDM

4) UFO
Correct Answer: RCL
Candidate Answer: RCL

QID : 32 - In a certain code language, 1875 means 'wound the round watch', 6143 means 'a cake is round' and 7321 means 'watch a round wheel'. Find the code
for 'watch'.

%W fAfEra sy & 1875 &7 GRT% ‘wound the round watch', 6143 &1 3rf %’ 'a cake is round' 3R 7321 &7 37 % 'watch a round wheel'l 'watch' & f%l'q PIS AT
|

Options:

1)1

2)8

3)5

4)7
Correct Answer: 7
Candidate Answer: 7
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QID : 33 - In a certain code language, '+' represents '-', '-' represents 'x', 'x' represents '+' and '+' represents '+'. Find out the answer to the following question.
96x4+125+25-5=7?
frd Ffd Py H '+, - B YR FRAT ], -, X' B USRIA BRAT 8, X, '+' &I URid a1 8 8lR '+, '+' Bl YaRid &rar 31 Faffed Uy Srmnamiasm?

96 x4 + 125+ 25-5=7?
Options:

1) 23

2) 24

3)50

4)8

Correct Answer: 24
Candidate Answer: 24

QID:34-1f17$22 =4and 56 $ 13 = 7, then find the value of 71 $ 25 = ?

e 17 $22=43R56$13 =7, A 71 $ 25 = ? BT A 1T HL?
Options:

1) 56

2) 96

3)1

4)8

Correct Answer: 1

Candidate Answer: [ NOT ANSWERED ]

QID: 35 - If A$ B means A is son of B, A # B means A is brother of B and If A * B means A is father of B, then what does X # Y * Z $ W mean?

TEASBH AR A BB TR, A#BHI ST A BT UESRR IR A*BHT SR fH A BHIRAEAX# Y * 25 W BT T 3rf &2
Options:

1) W is X's brother's wife

W, X & TS B 0all §

2) W is X's wife

W, X B! Uelt 8

3) W is X's mother

W, X BT A §

4) W is X's sister

W, X Bl g8 8

Correct Answer: W is X's brother's wife
W, X & HIS B Tell &

Candidate Answer: W is X's brother's wife

W, X & TS & uell &
QID: 36 -

Select the missing number from the given responses

e feeat & & qg w9

L

4
7 10
e 12

Options:
1)3

2)9
3)-3

4) 11
Correct Answer: 11
Candidate Answer: 11

QID : 37 - Which of the following terms follows the trend of the given list?
OOXXXXX, OXOXXXX, OXXOXXX, OXXXOXX, OXXXXOX,
fafifaa & ¥ o o1 ug < T G b HH & ATUR 72

OOXXXXX, OXOXXXX, OXXOXXX, OXXXOXX, OXXXXOX,
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Options:
1) XOXXXXO

2) XOXXXOX

FRESHERS NOW
3) OXXXOXX

4) OXXXXXO
Correct Answer: OXXXXXO
Candidate Answer: OXXXXXO

QID : 38 - A scientist is studying the behaviour of an ant. The ant picks food and walks 5 cm North, then it turns to its right and walks for another 11 cm. then it
turns right and walks 3 cm, then it turns West and walks 15 cm, then finally it turns to its left and walks 2 cm. Where is the ant now with respect to its starting
point?

TP Iy Hifedl & SHagR BT 3feqd= R TET 5| et WHT IoTaR 5 AdTHIeR IR B 3R Iadt 7 3R bR 78 arfesy Sh?ﬁm 11 Yfier T 31 R T g
MRt 3R geaR 3 FHiex o) § 3R b T8 UfEm B 3R goox 15 Fiier Tach 21 3id § U8 U9 91 3R Hedi § 3IR 2 JAHiex Tard! g1 et 3 3ot
TR fufq § wef &2

Options:

1) 4 cm East

4 ¥dtfier gd

2) 26 cm West

26 TR ufdm

3) 4 cm West

4 Ger ufdm

4) 26 cm East

26

Correct Answer: 4 cm West

4 Gier ufdm

Candidate Answer: 4 cm West

4

QID : 39 - Two football players start running from the same point on the ground. Player A runs 10 km East, then turns to his left and runs 13 km. In the meanwhile
Player B runs 6 km South, then he runs 3 km East, the he turns to his left and runs 19 km. Where is Player A with respect to Player B?

3 peaid At HaM b U@ g1 fdg J e URY & &1 RSt A, 10%%%@@?%%@1%&%@?@13%% drsar 31 I T
f@a?s,eﬁﬁﬁtﬁaarwaﬁmw%amﬁﬂ3mtﬁaqﬁﬁmaw% R it 91 iR eaR 19 fpaiieR Srear 31 et B & deuf # faenst A
Fel §?

Options:

1) 7 km West

7 fradieR ufdm

2) 7 km East

7

3) 13 km East

13

4) 13 km West

13 fpanie ufym

Correct Answer: 7 km East

7

Candidate Answer: 7 km East
7

QID : 40 - In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: Some chapters are physics
Statement II: All science is physics

Conclusion I: All science is chapters
Conclusion II: Some physics is science

Ty T S Y 8 T § e o € s 18R 11 fAeTa T 1 Ut AT § R S Y I § TR 98 WHIa: I1d audl ¥ e ueitd g 81 smuee! fHufa e
2 31 fou 7 R § ¥ oF-T/eH-8 R 0 ¥ S gR1 I8 e S Ihdr 3/9%d 8, afe B8 81

FUYAI: T AR WDt §
HY I1: T g it @

foree 1: ot foq orema €

e 11: Bo N RgH §

Options:

1) Only conclusion I follows

Fad (Y 1 981 §

2) Only conclusion II follows
S

3) Both conclusions I and II follow

T i 18R 11 9E ®

4) Neither conclusion I nor conclusion II follows

a1 a ey 1 9 § 1 & A 11

Correct Answer: Only conclusion II follows

Fad ey 11 981 &

Candidate Answer: Only conclusion II follows

Fad ey 11 98 B
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QID : 41 - In the question three statements are given, followed by three conclusions, I, II and III. You have to consider the statements to be true even_ifd4psatms
to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement I: All success is victory FRESHERS NOW
Statement II: All luck is success
Statement III: Some hard work is luck

Conclusion I: Some success is hard work
Conclusion II: Some hard work is victory
Conclusion III: No victory is luck

Uy T I wy 23 M § e omy A e 1, 11 3R 111 Feral M § 1 3iues! {9 R 6 i ue e § 918 9% IMd: 91d 9t § i vl g1 81 eimuet i
BT R P! 3 T el & § HA-97HH-3 P U $YF gR1 T8 Hbren o o g/9%d §, IS 3 8

Y I: I e faoa §
HYT I1: It 4T e @
PY I11: $S VgId W &

e 1: $& el Bgd §
forepy 11: 5 Ngd Swhadl §
e 111: 1S o Wi 8 8
Options:

1) Only conclusions I and II follow

fAepd 1 ok 11 W R
2) Only conclusions II and III follow
Fad Fsps 11 3R 111 98t §
3) Only conclusions I and III follow

fep 1 iR 111 Wt §
4) All conclusions I, II and III follow

A ey 1, 11 SR 11 e

Correct Answer: Only conclusions I and II follow

Had ey 1 ok 11 e &
Candidate Answer: Only conclusions I and II follow

Fad femd 1 3R 11 98t §
QID:42-
Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

fre=Aforiae ST armepfer # < I &1 B Ry Ty
ST fT = et & A ST a1 ST AblT?

O
X



SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


Options:
1)

s v

FRESHERS NOW

Correct Answer:

Candidate Answer:
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QID:43-

RrferReT S gy ¥ & P & wRred B
iGN f T T3 AT Y AT ST Wl 87
Options:
1)
2)
3)
)

Which of the following answer figure patterns
can be combined to make the question figure?

Correct Answer:

Candidate Answer: [ NOT ANSWERED ]

QID: 44 -

In the following figure, square represents
Professors, triangle represents Social
Workers, circle represents Dieticians
and rectangle represents Men. Which
set of letters represents Dieticians who

are not men?

Frfafae R 3 o, didserd oo wefifa wean &,
Tt werel e 1 wefiia dRaT 8, g9 Sreifine
I N S ol Y Hafie T B1 31 &1 B |
g I SRR @ wafdfa wvr

& i gy T &2

J
PN
G
TK,

-

FRESHERS NOW


SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


Options:
1) EFGI

2) BDKH]J
3) IGAC

4) DEJI
Correct Answer: EFGI
Candidate Answer: EFGI

QID: 45 -
Which of the following Venn diagrams represents the
relationship between Butterflies, Animals and Insects ?

ferforRaa & ¥ B9 a1 3= o faafer, STHeRT 3fiR et
& drgr deer ST 87

Options:

©
C

©

@
S

Correct Answer:

Candidate Answer:

©
O

2)
3)
4)

©

FRESHERS NOW
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QID: 46 -

Which answer figure will complete the pattern in the
question figure? FRESHERS NOW

e 3 & <l TR STl 7 Mpfr 3 e

T ORT B2
TN
L/
Options:
2)
3)
a)

Correct Answer:

Candidate Answer:
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QID: 47 -

From the given answer figures, select the one in which
the question figure is hidden/embedded.

<1 it SR SpfoRIT & I ey bl A F v

iy Fifee 81

Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

N\

FRESHERS NOW
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QID: 48 -

J
A piece of paper is folded and punched as ’l

shown below in the question figures. From the rresTER N
given answer figures, indicate how it will appear
when opened.

T TP 7 FaRTT SFTHR BT Y AShR I
BT P T Wi & 9IS I8 35 IR 37epfer Siar
ferarg &m?

Options:
1)

2)

3)

0= 0

Correct Answer:

00%
O 0O
N~

Candidate Answer:

209
C O
v 0
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QID: 49 -

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the

FRESHERS NOW

given figure?

afe T ST Y MN T U Wa1 o0 af & 1Y 9a%
3Tepferat & A HIT-HT ITPpher T TP b1 A&

uferferg gvf?
" V
Z;
M
Options:
©

Y

2)

Z,
A

la

2
N

Correct Answer:

X

Candidate Answer:

X

3)

4)
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QID: 50 -

A word is represented by only one set of numbers as given in any one of the
alternatives, The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-1 are numbered from 0 to 4 and that of Matrix-|l
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example 'C' can be represented by
43, 41 etec and 'O can be represented by 97, 78 etc. Similarly, you have to
identify the set for the word "SPAN".

U 91eE et U HEI-E WINT Sea T 8, SR {3 Tt F 3 fipelt v
e &1 ferredt R o wET-ETE arert o < o e st e #, SR i R
QST MR H 1 -1 & T 31 dfeh B Hear 0 % 4 3R eI 53 9
81 5 ITTET ¥ UF &R P UEel SHHT Uith 31 aT8 H T AT ST ST 3
Tl &1 TEERT & 70 '© 1 43, 41 271 g7 S99 HehaT § @R 'O° & 97,
78 3 gy Sl w wear &1 g6t ave O et uy ¥ 2 9w 'SPAN' & e
GHE B T 8

Matrix | HTEE- Matrix I HTEE-N

i) 5 2 3 4 5 5 T £ E)
Q M A M | E 5 M A Q u 5
1 A A ] | A 6 i 5 T u N
2 F I M | E 7 5 z X o v
3 | 1] A L K & X 5 F w P
4 "] [ A [ L b u b ] il hi

Options:

1) 66,87,33,56
2) 59,78,42,31
3) 86,89,32,55

4) 78,43,22,98
Correct Answer: 86,89,32,55
Candidate Answer: 86,89,32,55

QID : 51 - Preliminary expenses are the examples of

RS & T IETERYI B
Options:

1) Capital expenditure

USiNTd &

2) Capital gain

GuiTa aTH

3) revenue expenditure

Rod g

4) deferred revenue expenditure
RIFTT o

Correct Answer: Capital expenditure
JSiTd &

Candidate Answer: [ NOT ANSWERED ]

QID : 52 - Which economic activity cannot be included in the tertiary sector?

it &7 & o It onfdfes nfafafy wnfira =t &t o wade
Options:

1) Working in a call-centre

Bid Yex T B HT

2) Tuition occupation

R TG

3) Bee-keeping

AYHSE! ured

4) Banking

Sfeb

Correct Answer: Bee-keeping

TYARd! g
Candidate Answer: [ NOT ANSWERED ]

QID : 53 - Which of the following statement is true for the Public Sector Unit?

Fafifed & ¥ P I HY Iraue &5 3hTs & oY Ig! 22

FRESHERS NOW
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Options:
1) Most of assets is owned by a group of people

=1 aREuRE &1 i Al & T & U Bl §
2) Most of assets is owned by big companies

: A ; : " Ao e

3) qut of assets i; owned by government
WHR Wit # gt 8

4) Most of assets is owned by an individual
i ot T afed & O gt @
Correct Answer: Most of assets is owned by government

TR WIHE & g 3

Candidate Answer: Most of assets is owned by government

QID : 54 - The percentage of India's population in the total population of the world as per 2011 census is:

2011 P SIUFT & SFIHR URA &1 SHReA fay 3 sie &t faram uford 82
Options:

1) 17.5%

2) 18.01%

3) 19.35%

4) 20.25%

Correct Answer: 17.5%
Candidate Answer: [ NOT ANSWERED ]

QID : 55 - Which of the following five year plan of India recognized human development as the core of development efforts?

fafafad ¥ ¥ g yRdta deasfa a3 @it fasrarers Tarl & 9R & %0 8 919 f[Aemg & o 4
Options:

1) Eighth five year plan

3Tadt deasig e

2) Ninth five year plan
f Geraifar e
3) Tenth five year plan
f et et
4) Eleventh five year plan

Correct Answer: Eighth five year plan

3TaT
Candidate Answer: [ NOT ANSWERED ]

QID : 56 - Which of the following thinker is associated with "the concept of political sovereignty"?
T q D RS "ISFifa® TYET B Yhea " I T 82

Options:

1) Maclver

2) Socrates

3) Rousseau

4) Plato
wiel
Correct Answer: Rousseau

Candidate Answer: [ NOT ANSWERED ]

QID : 57 - Who said, "A good citizen makes a good state and a bad citizen makes a bad state"?

g T8 U1, ‘TP 3BT ARG Teh 33T AT T § 3R §RT ANRS Teh G AT Tl 27
Options:
1) Plato

2) Aristotle

3R]
3) G. B. Shaw

Sft.&. =

4) Rousseau
Correct Answer: Aristotle

SR
Candidate Answer: [ NOT ANSWERED ]

QID : 58 - Panchayat Samiti at the block level in India is a/an

HRA § i TR W 41 Garad I g, [
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Options:

1) Advisory Body

T FeEPR b

2) Coordinating Authority only
Had TH9T UTIHROT

3) Supervisory Authority only
Paa qhaelt MR

4) Administrative Authority
RIS CRRIDE R

Correct Answer: Administrative Authority

Candidate Answer: Administrative Authority

QID : 59 - According to Indian Constitution, who decides the salary of members of Parliament?

YRR HAUH & 3FIUR, GUE & Tl & I $1 0l S Hal 52
Options:
]:) Uniqn Council of Ministers

2) Parliament

q9q

3) Supreme Court

JdH ey

4) President of India

HR &7 Agafd

Correct Answer: Parliament
RN

Candidate Answer: Parliament
qgq

QID : 60 - Which one of the following is not correctly matched?

fFrafafed & o191 1@ w3 gaferd e 82
Options:

1) Eighth Schedule : Languages

SradT STt : Hmg

2) Second Schedule : Form of Oath of office

TR ST : XU URY

3) Fourth Schedule : Allocation of seats in Rajya Sabha
Areft St : T Ty H R BT Sden

4) Tenth Schedule : Defection related provisions

YAl SIYE! : Go-gad e HauH

Correct Answer: Second Schedule : Form of Oath of office
TR YT : MUY Uy

Candidate Answer: [ NOT ANSWERED ]

QID : 61 - When did the Chinese traveler 'Sung Yun' come to India?

= I T g YR S 3T AT?
Options:

1) 510 AD

510 8.

2) 518 AD

518 .

3) 525 AD

525 %,

4) 528 AD

528 %.

Correct Answer: 518 AD
518 %.

Candidate Answer: [ NOT ANSWERED ]

QID : 62 - Which among the following state 'Odantpuri' education center was situated?

ey fien o= Foffea f A fPa v He@fR@ar |
Options:

1) Bengal

EHIN]

2) Gujarat

3) Bihar
4) Tamil Nadu

Correct Answer: Bihar

Candidate Answer: [ NOT ANSWERED ]
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QID : 63 - Who was the founder of Bahmani Kingdom?

FEH T BT YRITYS BI UT?
Options:
1) Hasan Gangu
2) Firoz Shah
[ERERI
3) Mahmud Gawan
at
4) Asaf Khan
STEH G

Correct Answer: Hasan Gangu
GNERIUS
Candidate Answer: [ NOT ANSWERED ]

QID : 64 - During whose rule in India did the Khilafat movement begin?

YR & frgas I & Sfaid RIAThd SfaIa T 3IRY g3 UT?
Options:

1) Lord Mountbatten

IS Irdesed

2) Lord Dalhousie

IS

3) Lord Chelmsford

S IHIS

4) Lord Curzon
TS FHoi
Correct Answer: Lord Chelmsford

Candidate Answer: [ NOT ANSWERED ]

QID : 65 - Who among the following was the founder of the Arya Mahila Samaj in the early 1880s?
1880 & TR1& & URM H 31 AT TS B RIGT 378 & fove e

Options:

1) Swami Dayananda Saraswati
SIRIOIEEA

2) Swami Vivekananada

3) Ramabai Ranade

4) Pandita Ramabai
CIEGIRSIEIE)
Correct Answer: Pandita Ramabai

Candidate Answer: [ NOT ANSWERED ]

QID : 66 - Dasht-e Kavir Desert is located in which country?

TXA-T-HIR Ao foby 32 A fRyd 72
Options:
1) Iran

2) Saudi Arab
TS RS
3) Iraq

B

4) Sudan
qsH

Correct Answer: Iran

Candidate Answer: [ NOT ANSWERED ]

QID : 67 - Which of the following layers is called "Barysphere"?

fafiad o ¥ 5 IRa &1 "SRR $7T T 32

Options:

1) Earth's most internal layer

T P YYD TR

2) Earth's intermediate layer

gt 3} Aeadf wd

3) Earth's topmost layer

7o g HU WA

4) Lowest part of the atmosphere where climate changes occur
AHSA BT Yad =gl T gt ]

Correct Answer: Earth's most internal layer

T B qEY SRS TR
Candidate Answer: [ NOT ANSWERED ]
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QID : 68 - The Blue Nile river originates from which of the following lakes?

& A 7 Fafafed & @ feg e & Pead 22
Options:
1) Lake Victoria FRESHERS NOW

2) Lake Tana
S
3) Lake Edward

4) Lake Albert
e

Correct Answer: Lake Tana
GIBIEIS
Candidate Answer: [ NOT ANSWERED ]

QID : 69 - Which of the following states of India has the largest percentage of geographical area under forest as per the report of the Forest survey of India?

R & Tde07 31 RO P AR URd & Faferiad & 3 fow s & Wi & o1 gaifie ufdwrd o 84 82
Options:
1) Manipur

2) Meghalaya
e
3) Mizoram

4) Nagaland
AATATS
Correct Answer: Mizoram

Candidate Answer: [ NOT ANSWERED ]

QID : 70 - At which of the following towns the Alaknanda and the Bhagirathi combines to form River Ganga?

i TR § arcfar Tg Wik @ef firerer T =1l &= 27
Options:
1) Haridwar

2) Rishikesh
EJLC

3) Rudraprayag
JEUANT

4) Devprayag
SN

Correct Answer: Devprayag

Candidate Answer: [ NOT ANSWERED ]

QID : 71 - 'Nirvana Fund' was set up by NSDC for financial help to

TIUGSIE gRT aiur HIw Bt RITeT ! foxfia werrdr ugH & §g 1 TS ot
Options:

1) Entrepreneurs from the bottom rungs of society

TS & e e & et

2) Displaced Kashmiri Pandits

et HeeRt dfsat

3) Old age people having no means of livelihood
SITSNIBTEN gof @ forg S 1 1S e 78 &
4) Ventures of selected candidates trained under PMKVY but did not get any job.
& Sfaifa TR Irfigar o #1E AsmR =& fiyan
Correct Answer: Ventures of selected candidates trained under PMKVY but did not get any job.

derddters & sierfa 9afa Sk URifad Swiiear o #1E AsR 7 firen
Candidate Answer: [ NOT ANSWERED ]

QID : 72 - Nakul Swasthya Patra' is a scheme by the Government for which among the following purposes?

ol & 9 g I3a 3 4 & T YRd PR gRI \5d W U’ Ao & I TS 82
Options:

1) Wellness of animals

UR[3T & WA BT C@HA 7

2) Wellness of animal owners

U] AT & TR B T@HTA 3

3) Taking care of lactating mother in the rural areas

gror &5 H =t @ gy fUam arelt Ardrell & W B SEHId 8
4) Taking care of newborn babies in the rural areas

grior & H Taed Riggell & WA ST T@H 8

Correct Answer: Wellness of animals

UgpeHt & W &I TEHTA 7

Candidate Answer: [ NOT ANSWERED ]
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QID : 73 - Which mine of India was in the news recently for becoming the country's first iron-ore mine to have a solar plant for reducing carbon footprint?

HRT B HH-U e Bl Peflic oH B & 7T TR TG ) RITHT 7 el S BT T A6-7G e g1 & SR g1d & § =fid &
Options:
1) Talchar mine FRESHERS NOW
R WaH
2) Koraput mine
Mo
3) Noamundi mine

FremSt TeH

4) Ratnagiri mine

RCIHRRCHE

Correct Answer: Noamundi mine
At wem

Candidate Answer: [ NOT ANSWERED ]

QID : 74 - Where will the Summer Olympics be held in 2028?

UrSHepTel SiiciUe § 2028 H gl Sl fbar sme?
Options:

1) Sydney

st

2) Paris

LIS

3) Los Angeles

ol e

4) Copenhagen

DU

Correct Answer: Los Angeles
RIS
Candidate Answer: [ NOT ANSWERED ]

QID : 75 - Which country has won the 2017 Davis Cup Tennis Tournament?

39 Bu e gAfdie 2017 fbw 3w 3 Shar 82
Options:
1) Switzgrland

2) Serbia
afefar

3) France
ans]

4) Belarus
ERIRST|

Correct Answer: France
i'anl

Candidate Answer: [ NOT ANSWERED ]

QID : 76 - “You are Unique” is written by .

“gIR S gRIRRA T R
Options:

1) Dr. A. P. J. Abdul Kalam

1. U o, . 3fegd Ham

2) Khushwant Singh

gurd g

3) Taslima Nasrin
T TERH

4) Arvind Adiga
3Rfag sifEm

Correct Answer: Dr. A. P. J. Abdul Kalam
1. U . . 3fegd Ham
Candidate Answer: [ NOT ANSWERED ]

QID : 77 - The third Indian Council for Cultural Relations (ICCR) Distinguished Indologist Award for the year 2017 was awarded to Japanese professor .

Y 2017 & forg AT UR TRl Say ufikvg (11.91.4.1.) fafky yRafdg T STamt ditheR oI e mar g1
Options:
1)pHIi(r)cr)‘s?1i Marui

2) Shimamaru Marui
3) Nagasaki Marui
AT TR

4) Toyota Marui

[ GREESE]

Correct Answer: Hiroshi Marui

Candidate Answer: [ NOT ANSWERED ]
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QID : 78 - Which of the following city has became first Indian city to get UNESCO’s world heritage city tag?
Fofafad & I 1 91 2eR T 31 fay fRTH RIeR &7 7 U = aTelT UIRd ST W RTex & 4T 32

Options:
1) Jaipur FRESHERS NOW

SR
2) Ahmedabad

SigHald

3) Gandhi Nagar

Tt TR

4) Allahabad

ENIEEICS

Correct Answer: Ahmedabad

SEEMEI

Candidate Answer: [ NOT ANSWERED ]

QID : 79 - In June 2017, which of the following countries have signed a protocol of co-operation in the field of archive?

S 2017 ¥, Fofafad & 3 5 3= 3 ificRanR & & o T8 & AT ue Wieisid WR swaeR 5y 82
Options:

1) India and Israel

EIRGINRIESNES]

2) India and Portugal

YR TUT Gt

3) India and Netherland

YR T Fezeis

4) India and Iran

URT T S

Correct Answer: India and Portugal
YR Ut

Candidate Answer: India and Israel
YR dYT FoRISA

QID : 80 - India has signed an agreement to provide USD 318 million as line of credit for developing railway sector of which of the following country?

Fafifea & ¥ 59 3 & YR 3 30 89 & 3o & e 318 AR sARe! SR o1 HiSe A" &1 Jeradar B34 & 1T U Jaehar fear g2
Options:

1) Blanngladesh

ELLSICR

2) Nepal

Jura

3) China

Eis|

4) Sri Lanka

oficiept

Correct Answer: Sri Lanka

C;ndidate Answer: Bangladesh

QID : 81 - Dot Matrix is a type of
gie Ay 1 TP UHR 3
Options:

1) Tape

<

2) Disk

5552

3) Printer

fliex

4) Bus
Eil
Correct Answer: Printer

Candidate Answer: [ NOT ANSWERED ]

QID : 82 - The secondary storage devices can only store data but they cannot perform
fadiae GUgT SUSRU Had ST GURT IR IBAI T WIaE 8l S IPa 8
Options:

1) Arithmetic operations

2) Logic operations

3) Fetch operations

4) All options are correct.

it faeren It B

Correct Answer: All options are correct.

Tt farey I B
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Candidate Answer: All options are correct.

it faepen I B

QID : 83 - In the modern periodic table metals, metalloids and non metals are found in which block?

MY 3ad TROf & o1g, I, qUT 3ieng 5 scifes & U o 2
Options:

1) s-Block

ISCSIED

2) p-block

p-&ildh

3) d-block

d-sileh

4) f-block

f-sdlh

Correct Answer: p-block

p-&iich

Candidate Answer: [ NOT ANSWERED ]

QID : 84 - Cinnabar is ore of which of the following?

frafefaa & @ RAER feger s/ 82
Options:
1) Magnesium

2) Aluminium

3) Mercury
ORI
4) Iron

Correct Answer: Mercury
ORI

Candidate Answer: Mercury
ORI

QID : 85 - In which of the following mirror size of image formed is always equal to the size of object?

fofafea 7 @ o9 9 o & yfafaw &1 sMeR g9 fate & 3MHR & TaH g 82
Options:

1) Convex mirror

3dd

2) Concave mirror

faad guor

3) Plane mirror

qHdd

4) Both convex and concave mirror
IS U T daqd U i
Correct Answer: Plane mirror
Jodd guur

Candidate Answer: Plane mirror
FHAd qUu

QID : 86 - Mass of a hydrogen atom is how many time the mass of an electron?

TP BIESIST TRA] BT FHA Th SATS P GH P a1 T4 BT 82
Options:
1) 1000

2) 8000
3) 1837

4) 5000
Correct Answer: 1837
Candidate Answer: [ NOT ANSWERED ]

QID : 87 - Which of the following are Fabrics that may contain polyester?
1. Polycot

II. Polywool
III. Terrycot

fFafifed & ¥ P19 ¥ $Ust § UlelteR 8 Iobdr 87

L. OifeRex
I1. Giferget
III. SApic

FRESHERS NOW
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Options:

1) Only I and II
Had I quT I

2) Only I and III
Had I T 11T

3) Only IT and III
Sad I1 9T 111
4) All L, 11 and III
I, I1 9T 111 9aft

Correct Answer: All I, IT and III
I, I1 9T 111 9aft

Candidate Answer: [ NOT ANSWERED ]

QID : 88 - Which of the following term does NOT represent electrical power in circuit?

frofafad & 9 o1 91 ug figad uRuy B fRigaa i &) Fefid 98t d=ar
Options:

1) IR

2) IR?

3)VI

4) V2R

Correct Answer: IR?
Candidate Answer: [ NOT ANSWERED ]

FRESHERS NOW

QID : 89 - A positively charged particle projected towards west is deflected towards north by a magnetic field. What is the direction of magnetic field?

Ui BT SR Uad Pis UG HUT b deera a7 gRI SR B 3R fAATd g S ¢ 1 e a7 i o= 1 g2

Options:
1) toward south

SI&0T BT 3R

2) toward east

3) downward
el
4) upward

Correct Answer: upward

Candidate Answer: [ NOT ANSWERED ]

QID : 90 - Which of the following is NOT positively charged?
fofofaa & @ S gl e 82

Options:

1) Alpha particle
3l HUT

2) Proton

Ure

3) Helium nucleus

ey Tfe

4) Electron

<

Correct Answer: Electron

Candidate Answer: Electron

X

QID : 91 - Which is a water soluble Vitamin?

B 91 [eriee v § gerhel 82
Options:

1) Vitamin A
fqeTfi A

2) Vitamin C
et c

3) Vitamin D
[EEIERED)

4) Vitamin K

faerfm K

Correct Answer: Vitamin C
faerftm ¢

Candidate Answer: Vitamin C
et
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QID:92-
Match the items given in column (A) with those in
column (B).

Column-A Column-B
I. Frog 1. Skin
. Leaves 2. Stomata
lll. Earthworm 3. Lungs and skin

=9 (F) F I 7 gl & =1H (@) F Gy
Frema A

HA-F A -9
. JAgh 1. o=
I, Ofaar 2 IS
. g3 3. %WS aUT wa=
Options:

1) I-3, II-2, I1I-1
2) I-1, I1-2, III-3
3) I-3, II-1, III-2
4) 1-2, 1I-1, 111I-3

Correct Answer: I-3, II-2, III-1
Candidate Answer: -3, II-2, III-1

QID : 93 - How many number of chambers are there in human heart?

Td gaa H well &) T bt gt 82
Options:

1) Two

2) Three

3) Four
IR
4) Five
urg

Correct Answer: Four
IR

Candidate Answer: Four
IR

QID : 94 - Which of the following is NOT present in a matured stomata?

TP 9% Iy A FEfifed § § $19 a1 IuRyd & g1 22
Options:
1) Plasmodesma

2) Chloroplast
3) Cell wall
RGBS

4) Vacuole
Correct Answer: Plasmodesma

Candidate Answer: [ NOT ANSWERED ]

QID : 95 - What is/are the cause(s) of arise hypermetropia?

e =P A BI/P 7 FRUI B/R?

FRESHERS NOW
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Options:
1) Excessive curvature of the eye lens.
ST < B I BT AP ST
2) Elongation of the eye ball.

Cakt= I
3) Focal length of the eye lens is too long.
A G B BIHT g BT it BT
4) No option is correct.

31

Correct Answer: Focal length of the eye lens is too long.

A A B BIHT g B it I
Candidate Answer: [ NOT ANSWERED ]

QID : 96 - Antibiotics are useful for which type of infections?

e UHR F Tehau & o Clarifes amvers gkl 82
Options:

1) Only bacteria

FHad

2) Only virus
Pad

3) Both bacteria and.virus
Sftaroy T faumgy
4) Neither bacteria nor virus

7 I Sitaro] 71 g fawTg

Correct Answer: Only bacteria

Candidate Answer: Only bacteria

QID : 97 - Which one of the following is NOT responsible for water shortage?

Fufofad & ¥ $1F I $R o & FH & o IwRerd 7L 82
Options:

1) Rapid growth of industries

stgniievur & gfg

2) Increaging population
gl S
3) Forestation

4) Mismanagement of water resources
T A1 BT FUE
Correct Answer: Forestation

Candidate Answer: Forestation

QID : 98 - Which gas is major contributor to greenhouse effect?

B 1 &RaTe yHa § Ie@ e direH ot 82
Options:

1) Carbon quoxide

PTa SRS

2) Chloroflurocarbon

3) Sulphur dioxide

TR SRSRITS

4) Nitrogen dioxide

TECIoH STgiaTEsS

Correct Answer: Carbon dioxide
BT SRAHTHES

Candidate Answer: Carbon dioxide
CACE RS ERIERIES

QID : 99 - Which of the following is NOT a major problem in development of resources?

fofofad & @ S 1 et & e § ge guwr T8 82
Options:

1) Depletion of resources for satisfying the greed of few individuals.
$S Alqdl BI/d ATCTIaR AT BT g |

2) Accumulation of resources in few hands.

$© HAfdad! & g1 T T BT I

3) An equitable distribution of resources.

T BT GHTS H I SearT|

4) Indiscriminate exploitation of resources.

TTeAT BT Sferefy Jol|

Correct Answer: An equitable distribution of resources.
T BT TS H AT SearT|

Candidate Answer: An equitable distribution of resources.
1T BT G H IR JeaRT|

FRESHERS NOW


SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


QID : 100 - Which of the following is NOT man made ecosystem?

Frofoiaa o ¥ o9 91 A i oo 5 T8 82
Options:

1) Orchards

REIEE

2) Home aquarium

3) Botanical gardens
-3

4) Grassland

Y &1 AgH

Correct Answer: Grassland
1Y &I AgH

Candidate Answer: Grassland
o &7 HeH

FRESHERS NOW

QID : 101 - Which of the following represent the crushing strength (MPa) for the good quality stone that are used in the construction of buildings?

fofofad & @ S O Jea amed gaRadl & Fafor & IuaT 653 S ard s TureT & URR & eI 32

Options:

1) Less than 20
209 Hq

2) 20 to 60

209 60

3) 60 to 80

60 3 80

4) Greater than 100
100 ¥ 3%

Correct Answer: Greater than 100

100 ¥ 31w

Candidate Answer: Greater than 100

100 ¥ 3if¥®

QID : 102 - Which of the following is examined to determine the age of timber?

o & 9 o @ o aed! o1 39 Pyl w7 % e 31 ord 82
Options:
1) Annular ring

PR T (SgerR )
2) Sapwood

3) Pith

FfaT

4) Timber defects
qbgl o Ffear

Correct Answer: Annular ring
HeABR T (e fom)
Candidate Answer: Annular ring

HSAPR T (3rger fm)
QID : 103 - Which of the following is determined with the help of Le Chatelier’s device?

fafafad & 9 g fuRor o SRR (Le Chatelier) & SUERUN & WaRT I faar wrr 22
Options:
1) Abrasion resistance

PIRNE]
2) Chemical resistance

iRy

3) Soundness
sedl
4) Strength

Correct Answer: Soundness
edl

Candidate Answer: Soundness
edl

QID : 104 - The type of mortar which is used for the construction works carried out in water-logged area is .

ST & 7 fRATor raf @ forg ST Bt 9 arelt HieR &1 UeR ®
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Options:

1) cement mortar

e AR

2) loose mortar

T ek FRESHERS NOW
3) mortar of very low consistency

9gd 4 fRRAT &1 AR

4) mortar having high w/c ratio

Fd w/c 3UTd BT AR

Correct Answer: cement mortar

e AeRk

Candidate Answer: cement mortar

QID : 105 - For M 25 grade concrete, the split tensile strength in terms of percentage of its compressive strength is

M 25 U Sepie & o, 38! ufawa Sute amf & I § fyuiiia awgar wifed H
Options:

1) 7to 11%

73 11%

2) 18 to 28%

18 ¥ 28%

3) 28 to 38%

28 ¥ 38%

4) 38 to 48%

38 T 48%

Correct Answer: 7 to 11%
79 11%

Candidate Answer: [ NOT ANSWERED ]

QID : 106 - Distempers are generally used to coat .

AR W SRR &I % AU & o T foban S B
Options:

1) compound wall

HUSS aTd

2) external concrete surfaces

B Hwic Ide

3) interior surface which are not exposed to environment

IR g S TafaR0r & Judh W a1 gl §

4) wood works

qAHSl & o

Correct Answer: interior surface which are not exposed to environment
<IN Tdg S TaiaRl & Jus § et gl §

Candidate Answer: interior surface which are not exposed to environment
TR Fag S quleryl & Jud & 781 g1 &

QID : 107 - Which of the following is commonly used as retarder in cement?

frofafad § @ oI dibe & Rers & ¥0 § S fohar ST 82
Options:
1) Calcium sulphate

2) Gypsum
Elest)
3) Potassium carbide

4) Sodium chloride
feaq
Correct Answer: Gypsum

Candidate Answer: Gypsum

QID : 108 - In the process of hydration of OPC, to complete all chemical reaction, the water requirement (expressed as the percentage of cement) is

fdrfi(oPC) Bt SerieH(TES ) Ufthar B, Tt Imafe ufafrarst @ guf A ¥ fo (H¥e & ufard  TU ) UM BT Il 2|
Options:

1) 5 to 8%

53 8%

2) 8 to 16%

89 16%

3) 20 to 25%

20 ¥ 25%

4) 35 to 45%

35 ¥ 45%

Correct Answer: 20 to 25%
20 ¥ 25%

Candidate Answer: 20 to 25%
20 ¥ 25%
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QID : 109 - The slump test is performed to check the

SIUTT UNREUT (T ) P S & g fpar smar g

Options:

1) presence of water in cement

e & urt 3t Jufufa

2) ratio of concrete ingredients

Hopic A & U

3) temperature resistance

g Ry

4) workability of concrete
(abfaferdh

Correct Answer: workability of concrete
(o faferh)

Candidate Answer: workability of concrete

HepIc P TG (Tehiaferct)

QID : 110 - The reason behind the low expansion and shrinkage of the plywood is

wEgs & Y R SR eI dTHRU |
Options:

1) plies are placed at the right angles with each other
IR U g ¥ JHSI0 TR W Sl §

2) they are glued under the high pressure

3 I <919 & I8 IS U §

3) they are held in the position with the help of adhesives
3 Rue ara verd @) veg 3 39 Ry & emrifera §

4) they are prepared with the help of veneers

3 TEeR Al A JUR fbd MU ¥

Correct Answer: plies are placed at the right angles with each other

W T G F THHI TR Y& St §

Candldate Answer: plies are placed at the right angles with each other

S TP GOR ¥ APV R ! & §

QID : 111 - Which one of the following method is used for the approximate estimation?

fFrafefed o 3 ®F @ vefa s egaM & I w &t o 82

Options:
1) Both central line and shortAwaII and long waII.method
FeitT Y@ 3R 7Y AR 3R delt AR gsfa gEt

2) Central line method
Do T

3) Plinth area method

CEREREAT]

4) Short wall and long wall method

Y <IaR 3R Tl AR ugfa

Correct Answer: Plinth area method

CEREREAT]

Candidate Answer: Both central line and short wall and long wall method

Feig YT ok @Y daR ok deft far v gt

QID : 112 - Accuracy in the measurement of the thickness of the slab or sectional dimension of column and beam (in centimetre) should be

W B HIeTs a1 WY 3R §19 F sguria omam (Fdidier ) ot am § wiemdr Kk

Options:
1) 0.5

2)1
3)5

4) 10
Correct Answer: 0.5
Candidate Answer: [ NOT ANSWERED ]

QID : 113 - Deduction at T-junction of the wall for total length of the central line is

FENT X BT HA AT S forg FaR BT AW R PR gl
Options:

1) half of thickness of wall

AR @t Arers Bt oneht

2) no deductiqn

3) thickness of wall

HaR Bt Aerd

4) twice of the thickness of wall

daR 31 Hier &1 g

Correct Answer: half of thickness of wall

IR P AT BI 3meft

FRESHERS NOW
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Candidate Answer: [ NOT ANSWERED ]

QID : 114 - For estimation of painted area of semi corrugated asbestos cement sheets, percentage increase in area above plain area is

31ef TrefigR TR Wife e & W gU & & IAH ¥ oy, Iuaw 8F F Iut & | vfawd afs = FRESHERS NOW
Options:
1) 0.1

2)0.14
3)0.2

4)0.25

Correct Answer: 0.1

Candidate Answer: [ NOT ANSWERED ]
QID : 115 - Scrap value of a property may be

foeht guf o1 ey g B HPar g

Options:

1) both negative or positive

UMD T YTAD ST

2) constant

3) negative

FUTHD

4) positive

YATHD

Correct Answer: both negative or positive
BUTHS AT 4TSS G

Candidate Answer: both negative or positive
FUTAS T YATHD G

QID : 116 - What is the unit of measuring cornice?

FHRAN B AT B IHTS T 82
Options:

1) Cubic metre

T Hex

2) Number

T

3) Running metre

4) Square metre

Correct Answer: Running metre

I e

Candidate Answer: Running metre

QID : 117 - Calculate the number of bricks in 20 cubic metres brick works.

20 T MR S o1 7 Sef Pt We @ U S|
Options:
1) 500

2) 1000
3) 10000

4) 100000
Correct Answer: 10000
Candidate Answer: 10000

QID : 118 - Calculate the area (square metre) of the formwork required for a beam of 2 m span and cross section dimension of 400 mm x 200 mm.

400 fhrefiiieR x 200 fidivieR Sy FTe 3 AT 3R 2 Hiex WA & &1 F AU saxgs TR & &wd (G Hiex) $t UM B
Options:

1) 0.8

2)0.16

3)1.2

4)2

Correct Answer: 2

Candidate Answer: 1.2

QID : 119 - The cross section areas of three sections of an embankment at an interval of 40 m are 10 square metres, 15 square metres and 35 square metres.
Calculate the quantity of earthwork for the embankment. Use prismoidal method.

40 R F RTA R TH deay b A fRTl BT Sy BIe &1 8hd 10 aif Hiey, 15 Ff Hiex 3R 35 F#f fex 7] desiy & forg Iuai & wit firgh o morn s
e fafd &1 I &)
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Options:
1) 1200

2) 1400

FRESHERS NOW
3) 1500

4) 2400
Correct Answer: 1400
Candidate Answer: [ NOT ANSWERED ]

QID : 120 - Calculate the annual depreciation (Rs.) of a machine having initial cost of Rs. 10,000. The scrap value is Rs. 1,000 and useful life of 30 years.

TP 7R F e Geagr (3) B! UM HIR frges! URRAYE @rTd % 10,000, 3afRRE I ¥ 1,000 3R IUGNT B &1 97T 30 UId 5|
Options:
1) 300

2) 367
3) 1333

4) 333333
Correct Answer: 300
Candidate Answer: 300

QID : 121 - What is the difference between the sum of interior angles of plane triangle and spherical triangle for area of triangle 195 square kilometre on the
Earth’s surface?

et Bt a8 W YT F 195 Tl fhaiex &7 F fu gHaw Hwi & AT ok MeeR FHHr & d & 0l & e iR 1 32
Options:

1) one degree

o it

2) one minute

3) one second

Th
4) one radian

& ASTH
Correct Answer: one second

TP Yobs
Candidate Answer: [ NOT ANSWERED ]

QID : 122 - Which one of the following is the largest scale?

fafefad # @ oF 91 9o g1 99T 87
Options:

1) 1:500

2) 1:1000

3) 1:2500

4) 1 :50000
Correct Answer: 1 :500
Candidate Answer: 1 :50000

QID : 123 - The quadrantal bearing of the line lies in the third quadrant making angle in clockwise with the north is

T 3T N IR Fgufer & § SR I ief F 1Y SR0Tad HioT 6 S B A I X1 B drged JHiT H
Options:

1)

N(6-180)°E

2) _
N(e-180)"W

3) )
S(6-180)°E

4)

5(6-180)°W
Correct Answer:
S(6-180)°W
Candidate Answer:
S(6-180)°wW

QID : 124 - Calculate the volume of the embankment (in cubic metre) using trapezoidal method, if the cross section areas of the three sections of an embankment
at an interval of 30 m are 20 square metres, 40 square metres and 50 square metres.

?;g;waﬁW(‘awﬁaﬁ)Wﬁfﬁéaﬁﬁlﬂ,ﬁ3o%mmmﬂ%%%@ﬁﬁw$ﬁmaﬁwzoaﬁw, 40 o7 Hex 3R 50
|


SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


Options:
1) 1100

2) 1150
FRESHERS NOW
3) 2250

4) 2350
Correct Answer: 2250
Candidate Answer: [ NOT ANSWERED ]

QID : 125 - Which one is the CORRECT order of the tapes based on their accuracy?

0 B FHal B ATYR W B I A Tl 32
Options:

1) Linen tape > invar tape > metallic tape > steel tape
oA 20 > $AR U > U <0 > Wi ¢

2) Invar tape > steel tape > metallic tape > linen tape

AR U > WA 20 > yrg 27 > fema ey

3) Metallic tape > steel tape > linen tape > invar tape

y1d 2U > ®Id oY > fom ¢u > $ar

4) Metallic tape > steel tape > Invar tape > linen tape

YTg <Y > ¥Id ¢U > 3AR U > fomm

Correct Answer: Invar tape > steel tape > metallic tape > linen tape
3R ¢U > ¥Id ¢4 > 1 ¢’ > fom ¢

Candidate Answer: Invar tape > steel tape > metallic tape > linen tape

Wﬁ>@ﬁ%ﬁ>%ﬁ>%ﬁ:{

QID : 126 - In the leveling between two points A and B on the opposite sides of a pond, the level is first set up near the point A and staff reading on A and B are
2.5 m and 2.0 m respectively. Then the level is moved and set near the point B, staff reading on points A and B are 1.2 m and 1.7 m respectively. Calculate the
difference of heights between the two points A and B (in metre).

e Bt AU Tdel W fUd < figait A 3R B & § 9Haw B4 @1 Ufhdr H, TR 1 Ugd fig A & U R A W g A 3R B IR T ST HHR: 2.5 Hiex
&;}fé.%%&n?ﬁ% 3T TR 1 fig B F U & SR R PR TR W6 HET HA: 1.2 Hiex 3R 1.7 Hier 3wl B g A 3R B & stg A& & 3R ) 70

( ) PRI|

Options:

1)0

2)0.5
3)1

4) 1.85
Correct Answer: 0
Candidate Answer: 0.5

QID : 127 - Calculate the combined correction for curvature and refraction (in m) for a distance of 2 km.

2 framier o8 & RIT aoar ok sruad (fex #) & forg Tgad Ger &1 0T Bifor|

Options:
1) 0.045

2) 0.135
3) 0.269

4)3.14
Correct Answer: 0.269
Candidate Answer: 0.269

QID : 128 - In transit theodolite, the line of the sight can be reversed by revolving the telescope through .

A REiage ¥, & morm ¥ Y & a1 &Y Ry uReHun gRT 3de faar o e g1
Options:

1) 90° in horizontal plane

90° o aa &

2) 90° in vertical plane

90° FHeafeR aa &

3) 180° in horizontal plane

180° &fart aa &

4) 180° in vertical plane

180° FeafeR aa &

Correct Answer: 180° in vertical plane
180° Se@fer aa &

Candidate Answer: 90° in vertical plane
90° JeieR Id o

QID : 129 - Which one is the CORRECT sequence for the temporary adjustment of the theodolite?

RaSieEe & U gHrieH & 1T oI 91 g 9 8


SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF

SIF
Sticky Note
None set by SIF

SIF
Sticky Note
MigrationNone set by SIF

SIF
Sticky Note
Unmarked set by SIF


Options:
1) Centering, elimination of parallax, leveling, and setting
Hfed HAT, A BT I, THIA S,
2) Centering, settlng, elimination of parallax and leveling
HAT, JfE, T BT IHEH, 3R FHAA AT FRESHERS NOW
3) Setting, centering, leveling and elimination of parallax
Afe, HiET BT, THAA BT, 3R A PT IHTH
4) Setting, leveling, elimination of parallax and centering
, AT BRAT, Ta BT ST, 3R Higd BT
Correct Answer: Setting, centering, leveling and elimination of parallax
Afe, BT BT, THAT BT, 3R A BT SHTH
Candldate Answer: Setting, centerlng, leveling and elimination of parallax
FAT, THAA HRAT, 3R T BT IHA

QID : 130 - Which of the following is used for determining the location of station occupied by the plane table?

frofofad o @ S gdeon Uz & @ 81 & RIF &1 Fyia wa & e Suai fesar amar g2
Options:
1) Both intersection and l"adiation

2) Intersection method
3) Radiation method
fafaor gomedt

4) Two point problem

< foig W (g uide visH)

Correct Answer: Two point problem

< foig wareT (g uide isH)

Candidate Answer: Both intersection and radiation

QID : 131 - Which of the following is responsible for the formation of residual soil?

fFrafofea & @ o1 w1 srafks firgh & e & forg fomer 32
Options:
1) Glaciers

2) Water

ofd

3) Wind

Rl

4) None of these

T A PIS TE

Correct Answer: None of these
TIPS T

Candidate Answer: Water

SN

QID : 132 - The coefficient of gradation and the coefficient of uniformity of a given soil sample is 1.0 and 4.0 respectively. The ratio of effective size to the diameter
through which 30% of the total mass is passed is

%ﬁﬁ%%w@%m(m)wsﬁ?mwm 1.0 3R 4.0 §| T BT YU 3B & TT 0T, oI5 A1 & GoIdH BT 30% TR
T

Options:
1) 1.25

2)15
3) 1.75

4)2
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID : 133 - Which of the following shows the CORRECT order of increasing surface areas of the given soil?

A fifed o @ B Rt & Tgd Tdg AFhd & FEl HH HI 37T 82
Options:

1) Clay < silt < sand < colloids

@t firgt < e < ¥ < PIags

2) Gravel < silt < colloids < clay

HHS < TG < PIARS < FAH

3) Sand < silt < clay < colloids

X < e < fyet gt < dags

4) Silt < gravel < colloids < clay

e < $HS < BIAES <

Correct Answer: Sand < silt < clay < colloids
d < MG < faei gl < dass

Candidate Answer: Sand < silt < clay < colloids

X < e < faet gt < daks
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QID : 134 - What is the assumption made about back of wall, in the Rankine’s theory of earth pressure?

YHSHT TaTd F IR (Rankine) ¥ RIGid SR &1 TRY & IR T 91 4RO 32
Options:

1) Plane and rough

AT 3R

2) Plane and smooth

e AR fe

3) Vertical and rough

TR 3R GRexT

4) Vertical and smooth

FeafR 3R Rpa

Correct Answer: Vertical and smooth
TR 3R
Candidate Answer: Vertical and smooth

FeafeR 3R R

FRESHERS NOW

QID : 135 - Which of the following is CORRECT about the viscosity of gas?

fufofed o ¥ S 79 3t T-a & R & 9@ 82
Options:

1) Inversely proportional to the temperature
T &

2) Increases with an increase in the temperature
TUHH A g b Y oG St 7

3) Independent of pressure

9§ & WA

4) Independent of temperature

ATOHH & Wi

Correct Answer: Increases with an increase in the temperature
e B 9 & 91y 9 ot §

Candidate Answer: Increases with an increase in the temperature

T A g b Y e St 3

QID : 136 - Pressure of 200 kPa is equivalent to the head of z metre of liquid having relative density 1.59. The value of z (m) is .

200 kPa T T&Td 1.59 |IU&] T & aal Uard b z Hiex $ars & SRR 8] z (He) FTAF 8|
Options:
1) 116

2) 11.82
3) 12.82

4) 13.14
Correct Answer: 12.82
Candidate Answer: [ NOT ANSWERED ]

QID : 137 - Which one of the following statement is CORRECT about the center of buoyancy?

fuforfad o ¥ S 91 FF Iadad dg & IR & g 82

Options:

1) It is the point where buoyant force act.

g 98 [ ¢ 9e Si1a §¢f B el g

2) It coincides with the centroid of volume of water displaced

Ig faefid o &t aEn & S & Y B Wi g

3) It is the point where buoyant force act. and It coincides with the centroid of volume of water displaced
I8 98 R ¢ 81 Seaa 90 B Hal ¢ AR I8 faRifd ot &1 711 & Fg & Y 7 off @ ©

4) It acts outside the body.

Tg NPT & S8R HTH T g

Correct Answer: It is the point where buoyant force act. and It coincides with the centroid of volume of water displaced
Ig 98 W § W8l I 90 B Il § 3R T8 fawfid urh &t 7 & s & 91 v o @rar ¥

Candidate Answer: It is the point where buoyant force act.
Tg 98 WM § We! Sa §iel B Beel g

QID : 138 - A longitudinal rectangular surface is hanged into the water such that its top and bottom points are at depth of 1.5 m and 6.0 m respectively. The depth
of center of pressure (m) from the top surface is

%@%mwﬁwﬁﬁwmw%%mwﬁﬁ%mmz 1.5 HieR 3R 6.0 Hiex BT TGRS W | HW Id8 W g9 F Hg5 P
HR) _____®l

Options:
1) 3.8

2)4.2
3)4.6

4) 4.8
Correct Answer: 4.2
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Candidate Answer: [ NOT ANSWERED ]

QID : 139 - The velocity potential which follow the equation of continuity is .

FRARAT & GHIGRUT BT UTe = aret ovT B & gl FRESHERS NOW
Options:

1)

X’y

2)
X -y

3)
cosX

4)

Xay?

Correct Answer:
=y

Candidate Answer:
Xo =y

QID : 140 - At what distance from the boundary layer, the value of the wall shear is three times of the turbulent shear?

o R I foret g8 W, AR & U HT A fasy IUR=gU %7 <M AT 82
Options:

1) 1/3R

2) 1/2R

3)2/3R

4)3/4R

Correct Answer: 2/3 R

Candidate Answer: [ NOT ANSWERED ]

QID : 141 - Which of the following statement is CORRECT about the stream lines and equipotential lines?

fofafea # ¥ B9 91 By yrT @St ok gufayg s & aR # WEl 82
Options:
1) Both can be drawn graphically for viscous flow around any boundary.
' F MU I Y418 & o Yaies- fosam o Wbl §
2) Meshes formed by them are aIwaysAsquares.
3% GRT 3 A A TSR 81 ©
3) They always meet orthogonally.
T e §

4) They can be calculated for all boundary conditions.
gt o et rer-gRmelt & @t o Wt §
Correct Answer: They always meet orthogonally.

THRN awad '
Candidate Answer: Meshes formed py them are always squares.

37 GRI ST A AR PR B1d &

QID: 142 -
The Rankine half oval body MM is subjected to
the two-dimensional flow having velocity V. The
typical stream line is shown in the folldwing diagram.
The point A in diagram shows _

A (Rankine) 3THT 3SR o MM, V 49 &
| &1 AT Uarg & F70= 5| e

IRT Y@ ReEterid 3w @ fewrs i ¥
@ ATagA_ guiar ¥
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Options:

1) point at which velocity is maximum

faig Sref o sifirpam B

2) separation point

UYFH 0T férg FRESHERS NOW
3) stagnation point

4) stall point

T fig

Correct Answer: stagnation point
Ruzar foig

Candidate Answer: [ NOT ANSWERED ]

QID : 143 - Which of the following is CORRECT ratio for Froude number?

Foffad & 9 H1F 91 s AR F o Wt orurd 82
Options:

1) Compressive force to inertia force.

Tite 90 &1 98 9 4

2) Inertia force to gravity force.

T 90 BT [SAIHYU §d I

3) Inertia force to tension force.
ESCESEIRECERES]

4) Viscous force to inertia force.

H 9 $I ISd 9 I

Correct Answer: Inertia force to gravity force.
TS a9 HI TEQAIHY §¢f

Candidate Answer: Inertia force to gravity force.
EECEREIRIRTEICA RS

QID : 144 - For the most economical triangular channel section, the angle of sloping sides from the vertical is

T P ey 9 SFHM & e, iR | gar el @1 s gl
Options:

1)

30°

2)
45°

3)
60°

4)

75°

Correct Answer:
457

Candidate Answer:
45°

QID : 145 - Method of applying water directly to the root zone of the plant is called .

TFTSs A ATRITN TP usld_ Fgan of
Options:

1) check flooding

TP wArST

2) drip method

o fafy

3) furrow method

Ps fafy

4) sprinkler irrigation

TR R

Correct Answer: drip method
T fafy

Candidate Answer: drip method
T fafy

QID : 146 - A field of 500 hectares is to be irrigated for a particular crop having 100 days base period. The total depth of water required by the crop is 100 cm.
Calculate the duty of the water (in hectares per cubic metre).

100 faf & 3eR 3rafdy aret forft fa=w wae ¥ forw 500 TR & T Riferd 5o S 81 woet & T SRest Uit 1 Te_1E 100 ITHieR 3| Uit bt ureel (Sgeh)
TOFT &} (FICER Ufd ¥4 Hiex H)|

Options:

1) 8.64

2) 57.87

3) 86.4

4) 864

Correct Answer: 864

Candidate Answer: [ NOT ANSWERED ]
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QID : 147 - The traffic volume of a roadway is defined as the multiplication of .

TP Y& & TN B A B ¥ 7o & U F GRHIRG fbar T g

Options:

1) speed and time headway FRESHERS NOW
T SR T Bt I

2) speed and distance way

3) traffic density and speed

I g 3R TR

4) time head way and distance headway

T Bt I SR g8 F IR

Correct Answer: traffic density and speed
AT T 3R T

Candidate Answer: traffic density and speed
AT T R T

QID : 148 - Calculate the equivalent radius (cm) of the resisting section of 20 cm slab, if the ratio of radius of wheel load distribution to the thickness of the slab is
2.

I ufed & UR AR (dis fewdiegm) ot Biear oik Wie &1 Al &7 oo 2 8, @ 20 Whfier W & Ry W 3 TAged Bisar (Fdiiex) &t TuET &3
Options:

1) 20

2) 35.6

3) 40

4)40.9

Correct Answer: 40

Candidate Answer: [ NOT ANSWERED ]

QID : 149 - On peak hourly demand, what is the maximum daily consumption for the city which have average daily consumption of 100,000 m3 ?

T TR B1 3T S Wud 100,000 9 Hiex €, S °eT AT & RRR R if¥wman e Tud w82
Options:
1) 140000

2) 170000
3) 200000

4) 270000
Correct Answer: 270000
Candidate Answer: [ NOT ANSWERED ]

QID : 150 - For which of the following, distribution mains is designed?
frafafaa o 3 feus fom faaRo e daR o ma 82

Options:

1) Average daily demand

3ga & TR

2) Annual peak demand

e AR A

3) Monthly peak demand

Ry fRIeR w1

4) Maximum hourly demand on maximum day

e W sif¥may ufy wer qit

Correct Answer: Maximum hourly demand on maximum day
& R sifpan ufa der win

Candidate Answer: Average daily demand

it e T

QID : 151 - Which of the following statements is true?

A. Most of the loads applied to a building are environmental load.
B. Most of the loads are dead followed by live loads.

fRafifed & ¥ &1 91 $y= 98t 82

A. $ARA R (RN 817 ard 3T s yafaror 7 1d 81
B. Tfaf¥Id 90 & 91 3ifUHI 9 g6l ol od o
Options:
1) Only A
Had A
2) Only B
B
3) Both Aand B
A 3R B 3H
4) Neither A nor B
TEARTEB
Correct Answer: Only B

%ad B
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Candidate Answer: Only B
Fad B

QID : 152 - How does an increase in the pitch of the roof affects the amount of load that can be placed on it?
FRESHERS NOW

Bd & IR A gig [9 THR ¥ I HR B AR BT THIAT BT & Sl I TR T ST Jebal 82
Options:

1) It increases

3o g Bl 8

2) It decreases

UE & 81 O §

3) Remains constant

o s AT §

4) Depends upon case

fRufy w Rk B @

Correct Answer: It decreases
Ig 1 g1 1l &

Candidate Answer: It increases

QID : 153 - What will be the rain load (in psf) if ds is 2 inches and dj, is 1 inches?

3R dg 2 $9 3R dy, 1 90 B, dl auf YR (psf #) fa grme

Options:
1)5.2

2) 10.4
3) 156

4) 20.8
Correct Answer: 15.6
Candidate Answer: [ NOT ANSWERED ]

QID : 154 - Concrete is:-

Hoic g

Options:

1) Good in compression, good in tension

TrfieT # ST, aa B ST

2) Good in compression, weak in tension
59 I 3T, IF1d |

3) Weak in compression, weak in tension

Tuited # gad, aAma |

4) Weak in compression, good in tension

[ g, a9 | 3BT

Correct Answer: Good in compression, weak in tension
TudteT & 35T, 19 § gad
Candidate Answer: Good in compression, weak in tension

gudted & 3resT, 19 § gdd

QID : 155 - If in planar system, X parts/members are there with Y no. of forces, then condition for statically determinacy is:-

TP GHANT M/ H, X HFT/3/@gd § W Y Wem # 94 SR 8, @ Rfde ¥u § fee=fimsd & fo wrd 8:-
Options:

1)Y < 3X

Y < 3X

2)Y > 3X

Y > 3X

3) Y=3X

Y= 3X

4) None of these

T A P T

Correct Answer: Y= 3X

Y= 3X

Candidate Answer: [ NOT ANSWERED ]

QID : 156 - If a system has more equations of equilibrium than no. of forces, then the system is:-

3R b o &t B T BT I H AIIaR & 3ifies FeieR 7, dF e Bi-
Options:
1) Improperly constrained
w0
2) Partially constrained
HHIRIF T ¥ s
3) Stable
Ryt

4) None of the;e

T A I T
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Correct Answer: Partially constrained

3 U q g

Candidate Answer: Stable

QID : 157 - Which of the following material is not used in making trusses?

=g w9 ¥ il § 9 5w gl o1 sum = fasan S 82
Options:
1) Wooden struts
S:RCR
2) Metal bars
u1g F1 B
3) Channel
ERE

4) Concrete
Correct Answer: Concrete

(;andidate Answer: Concrete

QID : 158 - In a truss it is assumed that the members are joined by.

=9 & 7 AT 1T © b 31999 $7% gRT U gk I IS 8 o
Options:
1) Rough pins

o=

2) Smooth pins
e e

3) Either rough or smooth pins
a1 1 grgX a1 e
4) None of these

T Y I TRl

Correct Answer: Smooth pins

Candidate Answer: [ NOT ANSWERED ]

QID : 159 - What is the major difference between truss and beam?

T 3R & A T SR w82

Options:

1) Beam can't transmit load in vertical direction while truss can

o aad fo=m & HR TIRd e R qPhaT § SEh o BR bl §

2) Truss can't transmit load in vertical direction while beam can

g dad famn # YR v e &R TehdT € Saih S B obd! 8
3) Beam can't transmit load in axial direction while truss can

7 Sreftg femm & R Rd TEY B Gl § SEid ¢H IR Gl §

4) Truss can't transmit load in axial direction while beam can

=9 3l faxn o UR ywid T X Ul § wae S IR Gl §

Corrgct Answe.r: Truss can't t(ansmlt load in vertical direction while beam can
<Y d9ad fav § YR TR e} HR Gl § S T R T §
Candidate Answer: Beam can't transmit load in axial direction while truss can

o srefia fomn & yR v 78 R wehar § SElh o AR bl §

QID : 160 - Given that J is no. of joints. B and R are no. of members and no. of reactions.

If B=4, R = 3 and ] = 4, then the truss is:-
foar man B 5 1 st Y e §1 B iR R sramal SR ufafthanstt @ e g

RB=4,R=33RI=4% qeae:-

Options:

1) Statically determinate
FU 9 uifia

2) Statically indeterminate and stable
FOY

3) Stable

R

4) Unstable
ST
Correct Answer: Unstable

Candidate Answer: [ NOT ANSWERED ]

QID : 161 - Which IS code gives details regarding water to be used in concrete?

Hopic H IUANT fHT M 9d Tl & o § &1 91 IS Pls [Jar0r UM PR 82

FRESHERS NOW
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Options:
1) IS 456

2) IS 383
3) IS 565

4) 1S 3012
Correct Answer: IS 456
Candidate Answer: [ NOT ANSWERED ]

QID : 162 - Which of the below is an example of plasticizer?

ProfifRd 3 § BN «RETETR 51 U6 IR0 872

Options:

1) Hydroxylated carboxylic acid
SifFgaes e et

2) Fluoro-silicate

fi) Gypsum
e
4) Surkhi

Correct Answer: Hydroxylated carboxylic acid
)

Candidate Answer: Gypsum

QID : 163 - How many methods of batching of concrete are there?

Pihic BT IRAT TR B ot fafrat &2
Options:
1)2

2)3
3)5

4)6
Correct Answer: 2
Candidate Answer: 2

QID : 164 - Concrete is generally placed on a:

FHeple AMMHAR W Y IR @ 9 §:
Options:
1) Form work

2) Stand
ws

3) Mould
HEl

4) Platform
e

Correct Answer: Form work

fffa ®rt

Candidate Answer: Form work

QID : 165 - The effective width of a column strip of a flat slab is taken as
i W P PIad g Bt gurd NS B AR |

Options:

1) one-fourth the width of the panel
Y90 B TS BT T TS

2) half the width of the panel

Y7d P ASTS BT 3T

3) half the diameter of the column
PIAT & A BT AT

4) the diameter of the column
PIaH & AN

Correct Answer: half the width of the panel
U9 B ST BT 3T

Candidate Answer: [ NOT ANSWERED ]

QID : 166 - Permanent dimension changes due to loading of concrete is termed as:

bl STA B HRUN AW H g4 aTen Rt gRkad= Heard §:

FRESHERS NOW
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Options:
1) Strain

2) Extent

qiETo

3) Creep

faador

4) Ambit

qiRfy

Correct Answer: Creep

Candidate Answer: Creep

QID : 167 - In design of R.C.C. structures, the tensile strength of concrete is taken as:

R, Tt & fewga #, Heple o) a7 &vd B fbg Tu # foran S &

Options:

1) 5N/mm?

2) 2N/mm?

3) 0.3N/mm?

4) None of these

T A BIS T

Correct Answer: None of these
T A BIS T

Candidate Answer: None of these

T A BIE T

QID : 168 - Flexure strength of concrete is determined as:

Hic B dob g B g = & Feifed ferar wmar 3
Options:

1) Modulus of rigidity

EEGIRIVIGE

2) Modulus of rupture

HTT Ul

3) Modulus of plasticity

4) Modulus of elasticity

AT T0Teh

Correct Answer: Modulus of rupture

T T[UTTR

Candidate Answer: Modulus of elasticity
AT UTieh

QID : 169 - Properties of concrete can broadly be divided into:
Fepic & W oI Tier # foran gTR 1 82

Options:

1)1

2)4

3)2

4)3
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID : 170 - Which IS code gives specifications about cement plaster?

B 91 IS s W & we » IR F fafde ar g2
Options:
1) IS 1500

2)15 1221
3) IS 1400

4) 1S 1661
Correct Answer: IS 1661
Candidate Answer: [ NOT ANSWERED ]

QID : 171 - In a lime-cement plaster, ratio 1:1:6 corresponds to:

-Uide & TReX H, 1:1:6 U fbud T 8T 8
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Options:
1) Lime:;:ement:sand

T e a1

2) Cement:Lime:sand

dide: AT ST FRESHERS NOW

3) Lime:sand:gravel
FAT: I SoRT
4) Cement:sand:gravel
o sl
Correct Answer: Cement:Lime:sand
e ERIHCIE
Candid{:te Answer: Lime:cement:sand

AT WHe: I
QID : 172 - On which of the following does the correct proportion of ingredients of concrete depend upon?

Fufofad & 9 frg R sl ot 9l &1 T8t srurd fR s g2
Options:
1) bulking of sand
ST T e
2) water content
B A
3) absorption and workability
ST 3R FHTIT

4) All option are correct

Tt ooy Tt €

Correct Answer: All option are correct

it fopeT Tt

Candidate Answer: absorption and workability

QID: 173 -
If X,Y and Z are fineness moduli

of coarse fine and combined
aggregates, the percentage

(P) of fine aggregates to combined
aggregates is

IR A, A 3R §Aafea 91 &1
eAdr qUTF X, YA Z &, ar 7 g1 3R
ST gof &1 gfdera (P) €

1P = £ x100

Z-y
X—Z
2P = == x100
it
3P = =—x100
X1z
4P= —x100
G o
Options:
1) [1] Only
Fad [1]
2) [2] Only
&ad [2]
3) [3] Only
Fad [3]
4) [4] only
Fad [4]
Correct Answer: [2] Only
Fad [2]

Candidate Answer: [ NOT ANSWERED ]

QID : 174 - Which of the following statements is false?

frafifad # @ &I 91 By Ted 82
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Options:

1) Workability of the concrete mix decreases with an increase in the moisture content

Tift Bt T W G 9 P WY bl F s ) gHridr 1 g St

2) Concrete for WhICh prellmlnary tests are conducted is called controlled concrete
TRIGOT 15T ST

3) Bulking of sand depends upon the ﬁneness of grains

1], BT R[T HUT Bl FeAd R R e ¥

4) All option are correct

it fadwed Ot §

Correct Answer: All option are correct

Tt ey wdt §

Candidate Answer: Workability of the concrete mix decreases with an increase in the moisture content

Tift Y AE o S 89 & Ty Fepie & Mo 1 gHriar HH § o §

QID : 175 - Which of the following statements is false?

frafied & I S 91 Sy Tad 32

Options:

1) Space between the exterior walls of a warehouse and bag piles should be 30 cm

USRIE Bt aTedt IR 3R IA F R F ofid &1 = 30 I g1 71w

2) Cement bags should preferably be piled on wooden planks

itie & AT B IR R AHS! B YS! W @ ST AMRY

3) Cement bags should be placed such that bags of one layer does not touch the bags of the adjacent layer
e F AT B 39 YBR AT T ST b AT BT T TR Jail B 319 TR Bl T Y

4) None of these

T A PIS T

Correct Answer: None of these

T A BIS T

Candidate Answer: Cement bags should be placed such that bags of one layer does not touch the bags of the adjacent layer
Hitie & AT B! 3 UDHR IWT ST AN1RT b At B b TR Al Bl 31 TR B! 7 g

QID : 176 - Which of the following statements is false?

i & 3 S 91 U Tad 82

Options:

1) With passage of time, the strength of cement increases

g & 9y, Wite & el 4 9fg Bt @

2) With passage of time, the strength of cement decreases

T % G, e &7 Qe ved 7

3) After a period of 24 months, the strength of cement reduces to 50%

24 U1 Bt 3(af & a1, Wie & T F 50% P HH 8 ol ¥

4) The concrete made with storage deteriorated cement gains strength with time

1SR F1 T &g HiHc GRI S8 15 Hopic THT P 1Y i U SRl

Correct Answe_r: With passage of time, the strength of cement increases
g & 91y, @ie & amad A g el §

Candidate Answer: With passage of time, the strength of cement increases

Ty & a1, Wiie & g A gfg et 8

QID : 177 - For a concrete mix 1:3:6 and water cement ratio 0.6 both by weight, what is the quantity of water required per bag?

Fepte YT 1;3:6 SR ofd W SUTT 0.6 ST YR §RT & g, Ufa Ae Srd &1 7 o1 82
Options:

1) 10 kg

10 foa

2) 12 kg

12 foelt

3) 14 kg

14 foa

4) None of these

T A BIE T

Correct Answer: 14 kg
14 foa

Candidate Answer: [ NOT ANSWERED ]

QID : 178 - Transport of concrete by pumps, is done for a distance of

UU GRT $psc &1 uRag, fhat g8 & fo fasan sirar &
Options:
1) 100 m
100 Hiex
2)200 m
200 e
3)300 m
300 Hiex
4) 400 m
400 Htex

Correct Answer: 400 m

400 TR
Candidate Answer: [ NOT ANSWERED ]

FRESHERS NOW
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QID : 179 - The compression in PSC is done by of high-strength tendons.

psc # gafte S=-gmd o fRRf & R foar ST 81

Options:
1) Compression

2) Ténsioning

3) Shearing

SO0

4) Bending

el

Correct Answer: Tensioning

Candidate Answer: Tensioning

QID : 180 - In which beam tension capacity of steel is greater than combined compression capacity of steel and concrete?

g stm & eurd @1 o1g e S SR dbie & waiford awdte I @t o B it gl 82

Options:

1) Over-reinforced
HH-gee

2) Under-reinforced
DH-geo

3) Singly reinforced

Thd geo
4) Doubly reinforced

f& gee

Correct Answer: Over-reinforced
SHIFH-gee

Candidate Answer: Doubly reinforced

f& gee

QID: 181 -
If w is total load per unit area on a panel,

D 1s the diameter of the column head, L Is

the span in two directions, then the sum of
the maximum positive bending moment and
average of the negative bending moment for

the design of the span of a square flat slab,
should not be less than

IR 0 W FA AR 9fT SHE & W, T F
NG 7 s DE, o et A 9w L g, ar IR

AT Beld & qie & Bened & fav Fawas
UATcH® debel ITEYT I FocHS® davet IMEOT &
Fraa &1 TeTEer SHY FH AET gleaT AIRU

NE(E-2) BRerR)
-3 DRl

Options:
1) A Only
Had A

2) B Only
%aa B

3) C Only
®ad C
4) D Only
%ad D
Correct Answer: C Only
&ad C

Candidate Answer: [ NOT ANSWERED ]

QID : 182 - For a circular slab carrying a uniformly distributed load, the ratio of the maximum negative to maximum positive radial moment is

T qUIHR Hod o IR THEAH w0 3 UR faakd § & o, siftiean somersd ok sifiean eers e sl &1 o[urd §
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Options:
1)1

2)2
3)3

4)4
Correct Answer: 2
Candidate Answer: [ NOT ANSWERED ]

QID: 183 -
If permissible compressive stress in concrete

is 50 kg/cm?, tensile stress in steel is
1400 kg/cm? and modular ratio is 18, the

depih of the beam is

IR Fehle H AT FFdsa Tfaea 50
A2 ¥, srarg & gaer gfawer 1400
framas2 # ik g e 18§,

ar i T TETs 7

1] = ’O.IJTTQGaS;CtBh.M.
2] i = O.ZbZ:QGaS;CtBh.M,
4] s FOA::QGE;QM.

Options:

1) [1] Only

Fad [1]

2) [2] Only

%ad [2]

3) [3] Only

Fad [3]

4) [4] Only

&ad [4]

Correct Answer: [1] Only
Fad [1]

Candidate Answer: [ NOT ANSWERED ]

QID : 184 - The breadth of a ribbed slab containing two bars must be between

3 TS I YRICR A 3 dIeTs 39% s gl Aey
Options:

1) 6 cmto 7.5 cm

6 I ¥ 7.5 I

2)8cmto 10 cm

8 Tt ¥ 10 It

3)10cmto 12 cm

10 S § 12 SR

4) None of these

T AP e

Correct Answer: 8 cm to 10 cm

8 T ¥ 10 Tt
Candidate Answer: [ NOT ANSWERED ]

QID : 185 - A foundation rests on which of the following?

Hia fFofafed & 3 foog w onfyd St &
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Options:
1) base of the foundation

RICEARICIN

2) sub grade

3 it FRESHERS NOW
3) foundation soil

Hiq 1 fig!

4) Both Sub grade and foundation soil

30 AT 3R A3 3 v &R

Correct Answer: Both Sub grade and foundation soil
3 AT 3R a B} frh

Candidate Answer: base of the foundation

i &1 3R

QID : 186 - Which of the following statements is true?

i & 3 S a1 HuT T B2

Options:

1) To ensure uniform pressure distribution, the thickness of the foundation is kept uniform throughout

THIHM g9 f3avur gRfa wa & forg, g 3 9eE 3 ©g I vhenE @ o @

2) To ensure uniform pressure distributioq, the thickne._ss of the foundation is increased gradually towards the edge

THIAN ¢ f3avor YR w1 ¥ o, i ot 9eE d 3R 3t 3R 91 gu oR-4R ofg g ot @

3) To ensure uniform pressure distribution, the thickness of the foundation is decreased gradually towards the edge

THITH 19 IR GRfd w1 & o, Fia ot e § 8R $ 3R 91 gu dR-dR el gt St 7

4) To ensure uniform pressure distribution, the thickness of the foundation is kept zero at the edge

THTHM T IR0 G w1 % forg, eR R Ha o1 9eE g & ot @

Correct Answer: To ensure uniform pressure distribution, the thickness of the foundation is decreased gradually towards the edge
THIAM g9 f3avur gifda w3 & forg, g a9t 9ies & 3R 3 ok o1 gu fR-R woit g ot §

Candidate Answer: To ensure uniform pressure distribution, the thickness of the foundation is decreased gradually towards the edge

THIAM T8 f3aR0r G wa & forg, =i 3t 9is1s # 3R 3 3R S gu fR-4RX Hot gl ot @

QID : 187 - The weight of a foundation is assumed as which of the following?

frafafaa o @ fed e &1 WR AT ST 82
Options:

1) 5% of wall weight

R & I9H BT 5%

2) 7% of wall weight

&R & I FT 7%

3) 10% of wall weight

R & o BT 10%

4) 12% of wall weight

&R & IoH BT 12%

Correct Answer: 10% of wall weight
R & I9H BT 10%

Candidate Answer: [ NOT ANSWERED ]

QID : 188 - If the width of the foundation for two equal columns is restricted, the shape of the footing generally adopted is

TR T SRR WY F e g &) At ufaslRa $1 72 8, O MM T § 3R &7 3R eIl &
Options:

1) Square

Tt

2) rectangular
SAAIPR

3) trapezoidal
fawg aqysia

4) triangular

Correct Answer: rectangular
SAAIPR

Candidate Answer: trapezoidal

fers =rgafoita

QID : 189 - Maximum shear stress theory for the failure of a material at the elastic limit is known as

TR AT R IRt &1 fawerar & fore sifdiesan srovegor ufoee &1 39 w0 & ff o1 o @
Options:
1) Guest's or Trecas’ theory
e a1 ¢y Ryt
2) St.Venant’s theory
Je id &1 Rrsia
3) Rankine’s theory
e &1 Rrgia
4) Haig's theory
&1 1 Rigiiat
Correct Answer: Guest's or Trecas’ theory
e a1 ¢y Rt
Candidate Answer: Rankine's theory
1 Ryl
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QID: 190 - _ .
A simply supported beam carries a varying

load from zero at one end and w at the
other end. If the length of the beamis a,
the maximum bending moment will be

AT W T FART ST F H SR FT AR wi
3T Y O FT AT wil 3T S Fir
dAqTS a g, af HiwaR Fea HTHeT gen

A]g

B] wa
27
]w%
V27
D]wa2
9\5
Options:
1) A Only
Had A
2) B Only
%aa B
3) C Only
®ad C
4) D Only
%ad D
Correct Answer: D Only
%ad D

Candidate Answer: [ NOT ANSWERED ]

QID : 191 - When not specified, the volume of steel in R.C.C. work is taken as:-

e AfEy T 81, @ IR i & Wid &1 S RS g |

Options:

1) 1% to 1.6% of R.C.C. volume
ST BT 1% 9 1.6%

2) 2% to 4% of R.C.C. volume
T BT 2% T 4%

3) 4% to 6% of R.C.C. volume
ST BT 4% I 6%

4) 0.6% to 1% of R.C.C. volume

SRR 3 HT 0.6% T 1%

Correct Answer: 0.6% to 1% of R.C.C. volume
ST BT 0.6% T 1%

Candidate Answer: [ NOT ANSWERED ]

QID : 192 - The ratio of maximum shear stress to average shear stress of a circular beam is:

A. 2/3
B. 3/2
C.3/4
D. 4/3

TABR 1 BT AR U= yfded 3R i SII=uuT Hiied BT 3T 2
A. 2/3

B. 3/2

C.3/4

D. 4/3

Options:

1) A Only

Had A

2) B Only

%I B

3) C Only

%ada C

4) D Only

%Had D

Correct Answer: D Only
Fada D

Candidate Answer: B Only
Fad B
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QID : 193 - The property of a material by which it can be beaten or rolled into plates, is called

reh 1 1701 R gRT 3 e B a1 GHIBR @I ST S bl §, Heelidl 8
Options:

1) ductility

Rl

2) plasticity

wrfeHar

FRESHERS NOW

3) elasticity

RIS

4) None of these

T A P TE

Correct Answer: None of these
T AP Tol

Candidate Answer: None of these

EREREI R

QID : 194 - What is the limit to Poisson's ratio?

U3 & SFUTd Y T T 82
Options:

1)0.1

2)0.2

3)0.3

4) None of these

TH AP TG

Correct Answer: None of these
T A P TE

Candidate Answer: None of these

T P T

QID : 195 - Among the following, which is least elastic?
Frofafed & 9 $1F, Je9 $9 TR i1 87

Options:
1) Iron

2) Copper

BIR

3) Both Copper and Silver
PR 3R o gt

4) Rubber

&g

Correct Answer: Rubber
S

Candidate Answer: Rubber
S

QID : 196 - Two bars of different materials are of the same size and are subjected to same tensile forces. If the bars have unit elongations in the ratio of 4 : 7, then
the ratio of modulius of elasticity of the two materials is

A. 4.7
B. 4:10
C. 16:49

ﬁfw%mﬁﬁﬁwwﬁ%eﬁ?mmwwaﬁ R fepan e 31 e B8 31 31 SeifaRur ST 4:7 B €, A ST WA BT T AT 0N
3T

A. 47

B. 4:10
C. 16:49
Options:
1) A Only
Had A
2) B Only
%ad B
3) C Only
Fad C
4) None of these

T A P TE

Correct Answer: None of these
T A PIS o1

Candidate Answer: [ NOT ANSWERED ]

QID : 197 - If a composite bar of steel and copper is heated, then the copper bar will be under:

I TG SR PIR P} TGad TS 1 7TH b7 ST 3, AN BIR B B STb AT gt
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Options:
1) tension
GEIE)

2) shear
HUR=TUT
3) torsion

4) None of the;e

Correct Answgr: None of these
TIPS T
Candidate Answer: None of these

T A I T

QID : 198 - Pick up the incorrect statement from the following : The torsional resistance of a shaft is directly proportional to

fofafa # 9 e By T W B RIS UikiY {5 SHmHuTd gidr 8
Options:
1) modulus of rigidity
. .
2) angle of twist
TG HI0T
3) reciprocal of the length of the shaft
MG &t TaTs &
4) moment of inertia of the shaft section.
TGS SHTT HT STl
Correct Answer: moment of inertia of the shaft section.
ITGE SHRT BT SIS
Candidate Answer: modulus of rigidity

Eedl Il

QID : 199 - Net sectional area of a tension member, is equal to its cross section area

TG 3T BT P URwG B, SUD Thd URDG SAhd [
Options:
1) plus the area_of the rivet holes
fxae & f5sl % & & TN & SRR gl §

2) divided by the area of rivet holes
o1 Rae & i & &apa o U % v oo Sirar §
3) multiplied by the area of the rivet holes

fYae ¥ fogl I T B T BT ST §
4) minus the area of the rivet holes
31 Rde & sl & A7 B g U b S &
Correct Answer: minus the area of the rivet holes
3 e & %t & A B g U b S &
Candidate Answer: minus the area of the rivet holes

oI Rae & 5l & &7d P T U a1 S §

QID : 200 - When a tension member consists of two channel sections, the allowance for rivet hole is made for two holes from

TG g B €1 9d U 89 R, Rae & 3% & famw ok - ¥ 3 s & e s=man s @
Options:
1) each web

2) each flange
TS fHRI

3) each web or one hole from each flange whichever is more
9 T TAH fHIR R wep fovg < ot aifires &
4) each web or one hole from each flange whichever is less

T a9 A1 U fHTR W U &g o ot & &

Correct Answer: each web or one hole from each flange whichever is less

99 1 YA fHAR IR T g ol it v B
Candidate Answer: [ NOT ANSWERED ]
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